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1. wosms Lrse, (1m2 20

(1) 3y+2y = (2) x + 62 = (3) 42+ 52 =
(4) 4y + 3y = (5) 72+ 82 = (6) 4b+b =

(7) 3¢+ 3z = (8) 2¢+ 9c = (9) 3z 49z =
(10) 5a+ 4a =

2. WostEE L su, (102 4

(1) 3¢ —6¢c = (2) 8z — 8z = (3) 3b—b=
(4) 9b— 6b = (5) 62 — 9z = (6) Ta — 5a =
(7) 3¢ —5¢c = (8) 3¢ — 8¢ = (9) 3z — 62 =
(10) 3z — 2z =

3. koatEz Lasu, (1025

(1) 7Ta —Ta = (2) 3a —Ta = (3) 2z +4x =
(4) 8y —y = (5) 7c —9c = (6) 6z —2x =
(7) ¢ —bc = (8) 3z +x = (9) bx —Tx =
(10) 7x + 9z =

4. woatms Liesu, (18250

(1) =8z +9x = (2) 2b—2b= (3) —2¢ —6¢c =

(4) =3z +4x = (5) 6b—4b = (6) 2243z =

(7) =Ty +4y = (8) 8a —8a = (9) 9¢+9c =
(10) Ty +4y = (11) =2y + 17y = (12) —4z — 17z =
(13) —10x — 11z = (14) 10c — 15¢ = (15) 8y +y =
(16) —10z — 18z = (17) =19z — 15z = (18) 7b+2b =
(19) —14b+ 13b = (20) 15a + 2a =

— 13th-note —



- XFEKXBLESIEE - £ 01-1 -

XFEHXELESIEHE - £# 01-1

1.

ROFHHEZ Lp S, (102 57)

(1) 3y+2y= DY
(4) 4y +3y= Ty
(7) 3z +3z = Ox

(10) 5a+4a = 9a

. ROFHEAE LSV, (172 5)

(1) 3c—6c= —3¢C
(4) 9p—6b= 3b
(7) 3¢—5c= —2¢C

(10) 3z —2x= &

. ROFHEE LIV, (12 5)

(1) Ta—7a= 0
(4) 8y—y= Ty
(7) c—5c= —4c

(10) 7z 4+ 9z = 16x

WOHBEZ LS, (192 .45)

(1) 8z+92x= X
(4) 3z +4z= @
(7) —Ty+4y= —3Y

(10) 7y + 4y = 11y

(13) =10z — 11z = —21x
(16) —10z — 18z = — 28
(19) —14b+13b= —b

2) z+6x= Tx
(5) 7z+8z= 152

8) 2¢+9c= 1lc

(2) 8z —8z= 0

(5) 62— 92= —32
(8) 3c—8= —bcC
(2) 3a—Ta= —4a
(5) Te—9c= —2cC

8) 3z +z= 4x

2) 26—20= 0
(5) 6b—4b= 2b

(8) 8a—8a= 0

M) ( ) )

(3) 42+ 52= 9z
(6) 4b+b= Db

9) 3z +9z= 12

3)3b—b= 2b
(6) Ta—5ba= 2a

(9) 3z —6z = —3T

(3) 2z +42 = Ox
(6) 62 —22 = 4x

(9) bz —Te = —2&

(3) —2c—6c= —8cC
(6) 22+32= DZ

(9) 9c+9c= 18c

(11) =2y +17y= 15y (12) —4z —172 = —21x

(14) 10c —15¢ = —dC (15) 8y +y= 9y
(17) =192 — 150 = —34x  (18) v+20= 9b
(20) 15a+2a= 17a

— 13th-note —



- XFERXEBLESIEE - E## 01-2
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1. wosms Lrse, (1m2 20

(1) 5b+ 6b = (2) 62+ 8z = (3) 2z + 22 =
(4) x+6x = (5) 8z +2x = (6) 4z + 3x =
(7) ba+ Ta = (8) b+9b = (9) 3y + 5y =
(10) 3a + 8a =

2. WostEE L su, (102 4

(1) 4z — 4z = (2) 8a—a = (3) 8z —x =
(4) 6¢ — 3¢ = (5) 6a — 8a = (6) 22 — 62 =
(7) 9y — 3y = (8) 4a — 4a = (9) Tz — 3z =
(10) 2a — 2a =

3. koatEz Lasu, (1025

(1) 72 — 6z = (2) a+9a = (3) br +4x =
(4) z—Tz= (5) 6z —2x = (6) 4c+ 3c =
(7) x —8x = (8) bz —9x = (9) 5b—9b =
(10) 8a —a =

4. woatms Liesu, (18250

(1) x —Tx = (2) —4a —4a = (3) a+Ta =

(4) 2c— 3¢ = (5) 8b— 5b= (6) 8a+ da =

(7) —6x —9x = (8) —3x —Tx = (9) —a—8a =
(10) 4b—4b = (11) 20c — 16¢ = (12) —5c—1lc =
(13) =122 — 4z = (14) 3z — 2z = (15) 17x + 17z =
(16) o — 13z = (17) =9z — 13z = (18) 6z — 19z =
(19) —14z — 12z = (20) —17¢c —1lc =

— 13th-note —



- XFERXEBLESIEE - E## 01-2
XFERXEBLESIEHE - £/ 01-2 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 5b+6b= 11b (2) 62+82= 14z (3) 2z +20 = 4a
(4) z+6x= Tx (5) 8z +22= 10 (6) 4z +3zx= Ta
(7) ba+7a= 12a ®) b+9= 10b 9) 3y+5y= 8y

(10) 3a+8.= 1la

2. WostEE L su, (102 4

(1) 4z—4z= 0 (2) 8a—a= Ta 3)8r—z= (X
(4) 6c—3c= 3¢C (5) 6a—8a= —2a 6) 2z —62= —4z
(7) 9y — 3y = 6y (8) 4da—4a= 0 (9) 7Tz —3z= 4x

(10) 2a —2a = 0

3. koatEz Lasu, (1025

(1) 72—-6z= 2 2) a+9a= 10a (3) bz +4z = 9x
(4) z—72= —6z (5) 62 —2z= 4x (6) 4c+3c= TcC
(7) z—8x= —Tx (8) 5z — 9z = —A4x (9) 5b—9p= —4b

(10) 8a—a= 1@

4. woatms Liesu, (18250

(1) 2 —Te= —06x (2) —4a—4a= —8a 3) a+7a= 8a

(4) 2¢=3c= —C (5) 8b—5b= 3b (6) 8a+4a= 12a

(7) =6z — 9z = —15x 8) =3z —7x= —10x 9) —a—8= —9a
(10) 4b—4b= 0 (11) 20c —16c = 4c (12) —5c—1le= —16¢C
(13) —122 —42 = — 16 (14) 3z —2r = & (15) 17z 4+ 17z = 34x
(16)  — 13z = —12x (17) =9z — 13z = —22x (18) 6z — 192 = —13x
(19) =14z — 12z = —20x  (20) —17c—11lc= —28c¢

— 13th-note —



- XFERXEBLESIEE - £ 01-3
XFRXEBLESIEHE - £7 01-3 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 2¢+3c = (2) Ty +8y = (3) 6248z =
(4) Ty +2y = (5) Tx +9x = (6) 2c+ 6c =
(7) 82+ 8z = (8) 2z + bx = (9) =+ 3x =
(10) 62+ 5z =

2. WostEE L su, (102 4

(1) 8z — 4z = (2) 3z — 2z = (3) 62 — bz =
(4) 4o — T2 = (5) 4y — 6y = (6) 8z — Tz =
(7) 5a—3a = (8) 7z — 6z = (9) 9¢— be =
(10) 3¢ — 8¢ =

3. koatEz Lasu, (1025

(1) 6a—3a = (2) 8c+c= (3) 2a+3a =
(4) 8y — 16y = (5) 2y — Ty = (6) 6z + 4z =
(7) 14y — 8y = (8) Tz + 8z = (9) 62 — 13z =

(10) 7y + 8y =

4. woatms Liesu, (18250

(1) —2¢—6¢c = (2) 6z —8x = (3) =3y +9y =

(4) =7y —9y = (5) =by+9y = (6) Tc—4c =

(7) —9c+c= (8) =3y +8y = (9) —9¢ — 6¢c =
(10) =9z — 2z = (11) 13¢ —Tc = (12) =18z — 14z =
(13) 192+ 5z = (14) 19¢+ 13¢c = (15) 12a — 17a =
(16) —20x + 2z = (17) 1ly —y = (18) 18z — 18z =
(19) 8z + 20z = (20) —6a — 20a =

— 13th-note —



XFEHXE LESI=HE - E# 01-3

1.

ROFHHEZ Lp S, (102 57)

(1) 2¢+3c= HC
4) 7y+2y= 9y
(7) 8z+82= 16z

(10) 6z +5z= 11z

. ROFHEAE LSV, (172 5)

(1) 8z — 4z = 4@
(4) 4z —Tr = —3x
(7) 5a —3a = 2a

(10) 3¢ —8c= —OC

. ROFHEE LIV, (12 5)

(1) 6a —3a= 3a

(4) 8y —16y = —8Y

(7) 14y — 8y = OY
(10) 7y +8y = 15y

WOHBEZ LS, (192 .45)

(1) —2¢c—6c= —8cC
4) —7y—9y= —16y
(7) =9c+c= —8e¢
(10) =9z — 2= —11x
(13) 192+ 52 = 24z
(16) —20z +z = —19x

(19) 8z +20z = 28T

- XFERXEBLESIEE - £ 01-3

(2) 7y+8y= 19y
(5) Tx+9z= 16

(8) 2045z = T

(2) 3z —2x= &

(5) dy— 6y = —2yY

(8) T —6x= &

(2) Sc+c= 9c

(5) 2y —Ty= —HY

(8) 7z + 8z = 15T

(2) 62— 8z = —2x
(5) -5y +9y= 4y
(8) =3y +8y= OY
(11) 13c—7c= 6¢

(14) 19¢+13c = 32cC
(17) 11y —y= 10y

(20) —6a —20a = —26a

— 13th-note —

M) ( ) )

(3) 62+82= 14z
(6) 2c+6c= 8C

9) z+3z= 4x

(3) 6z —bx= &
(6) 8v —Txr= &

(9) 9¢—5c= 4c

(3) 2a+3a= Da
(6) 6z +4c = 10x

(9) 62 —13z= —Ta

(3) —3y+9y= 6y

(6) Tc—4c= 3cC

(9) —9¢—6c= —15c
(12) —18z — 14z = —32x
(15) 12a — 17a = —Oa

(18) 18z — 18z = 0



- XFERXEBLESIEE - £ 01-4
XFERXEBLESISHE - £7 01-4 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 9z + 5z = (2) 3b+9b = (3) 4c+2c =
(4) 8z +4x = (5) 9a+ 2a = (6) 8y +2y =
(7) 4a + 6a = (8) 3z +2x = (9) a+8a =
(10) 5a + Ta =

2. WostEE L su, (102 4

(1) 82 — 9z = (2) 8z — 3z = (3) Tz — bz =
(4) 6b— 7 = (5) 4z — 6z = (6) 62— Tz =
(7) 6c—c = (8) 2c—4c = (9) 7z — bz =
(10) 20 — 9a =

3. koatEz Lasu, (1025

(1) y— 5y = (2) 6z — Tz = (3) 32 — T =
(4) 10a —a = (5) b — 6z = (6) 5z — 9z =
(7) 52+ 7z = (8) 72— Tz = (9) 4z — 8z =
(10) 4a — 8a =

4. woatms Liesu, (18250

(1) =8¢+ 3c= (2) —4a+ 6a = (3) —z2—Tz=

(4) 2b—8b = (5) 5a -+ 5a = (6) —22+ 22 =

(7) =bz+2z= (8) —3y — 6y = (9) —3x + 6x =
(10) 9z — 9z = (11) 8a — 6a = (12) =7z + 62 =
(13) =13z — 3z = (14) 80+ 9b = (15) —20z + 152 =
(16) 20a + 15a = (17) 13z + 8z = (18) —14z — 10z =
(19) 20c — 11c = (20) 162 — 8z =

— 13th-note —



- XFERXEBLESIEE - £ 01-4
XFERXEBLESISHE - £7 01-4 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 92452 = 14 (2) 3b+9= 12b (3) 4c+2c= 6cC
(4) 8z +4x= 12 (5) 9a+2a= 1lla (6) 8y+2y= 10y
(7) 4a+6a = 10a (8) 3z +2z= DT 9) a+8a= 9a

(10) 5a+T7a= 12a

2. WostEE L su, (102 4

(1) 82—92= —2 (2) 8z — 3z = DT (3) Tz — bz = 2@
(4) 6b—7b= —b (5) 4z — 6z = — 2@ (6) 6z —Tx = —&
(7) 6c—c= DC (8) 2¢c—4c= —2¢ (9) 7z2—5z= 22
(10) 2a —9a= —7a@

3. koatEz Lasu, (1025

(1) y—by= —4y (2) 62 —Te = —@ (3) 3z —Tz= —4x
(4) 10a—a = 9a (5) b —6x= —a@ (6) 5z — 9z = —4x
(7) 52+ 72= 12z 8) 7z—72= 0 (9) 4z — 8z = —4x
(10) 4a —8a = —4a

4. woatms Liesu, (18250

(1) =8¢ +3c= —dcC (2) —4a+6a= 2a (3) —2—Tz= —8=2

(4) 26— 8= —6b (5) 5a+5a= 10a (6) —2z+2:= 0

(7) =bz42:= —32 (8) =3y —6y= —9y (9) =3z +6x= 3T

(10) 92 —9z= 0 (11) 8a —6a = 2a (12) =Tz +6x= —&

(13) =13z — 3z = —16x (14) 8b+ 9= 17b (15) —20z + 152 = — DX
(16) 20a + 150 = 39a (17) 13z + 8z = 21x (18) —142z — 10z = —24z
(19) 20c —11c= 9c (20) 16z — 8z = 8T

— 13th-note —



- XFEKXEBLESIEE - £ 01-5
XFRXELESIEHE - £7 01-5 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 7o + 8z = (2) 9b+2b= (3) 4y +9y =

(4) 20+ Tx = (5) 9c+ 4c = (6) bz + 9z =

(7) 2y + 2y = (8) 4z + 8z = (9) 4b+4b =
(10) 3z + Tz =

2. WostEE L su, (102 4

(1) 7c—dc = (2) 5e—Te= (3) 7z — 6z =
(4) 22 — 8z = (5) 4z — Tz = (6) 9z — 6z =
(7) Tz —x = (8) 9a — 9a = (9) 2a — 6a =

(10) 7a — 8a =

3. koatEz Lasu, (1025

(1) 4a — 3a = (2) 16¢ — 7c = (3) 2y — 8y =
(4) 9z — 9z = (5) 4z — 5z = (6) 52— 7z =
(7) b+ 6b= (8) 6z — 3z = (9) 3x+Tx =
(10) 6z + 4z =

4. woatms Liesu, (18250

(1) -4y +8y = (2) 3a —3a = (3) 6c+c=

(4) 8z +4x = (5) =2z —2x = (6) 2¢ —bc =

(7) —dz + 3z = (8) —Tz+3z= (9) 204 Tz =
(10) —8z — 9z = (11) 2b 4+ 16b = (12) 192 — 9z =
(13) 10c + 3¢ = (14) —14z — 14z = (15) —14c —20c =
(16) 16y — 3y = (17) =12z + 13z = (18) —4z — 16z =
(19) —15b+ 19b = (20) 11z + 62 =

— 13th-note —



- XFEKXEBLESIEE - £ 01-5
XFRXELESIEHE - £7 01-5 ( ) ( o7 )

1. wosms Lrse, (1m2 20

(1) 7z +8z= 1dx 2) %+20= 11b 3) 4y+9y= 13y
(4) 204+ 7z= 9x (5) 9c+4c= 13c (6) bz + 9z = 14
(1) 2y+2y= 4y 8) dz+8z= 12x (9) 4b+4b= 8b

(10) 3z + 7z = 10x

2. WostEE L su, (102 4

(1) Te—4c= 3cC (2) be—Tc= —2C (3) Tx —6z = &

(4) 22 — 8z = —Ox (5) 4z —Tx = —3x (6) 9z — 6z = 3T
(7) 7o —z = O 8) 9a—9a= 0 (9) 2a —6a = —4a
(10) Ta —8a = —@

3. koatEz Lasu, (1025

(1) da—3a= @ (2) 16c—Tc= 9c (3) 2y —8y= —O6Y
4) 92 —92= 0 (5) dz—bz= —Z (6) 52 —Tz= —22
(7) Tb+6b= 13b (8) 6z — 3z = 3 (9) 3¢+ 7= 10x

(10) 6z + 4z = 10x

4. woatms Liesu, (18250

(1) —4y+8y= 4y (2) 3a—3a= 0 (3) 6c+c= TcC

(4) 8z +4z = 12x (5) =2z — 220 = —4x (6) 2c—5c= —3C

(7) —4z+3r= —& (8) —Tz2+32= —4z 9) 2z +7z= 9x

(10) -8z — 9z = —17x (11) 26+ 166 = 18b (12) 192 — 9z = 10z
(13) 10c+3c= 13c¢ (14) =14z —14z= —28z  (15) —14c—20c= —34c
(16) 16y —3y = 13y (17) —12z2+ 13z = & (18) —4z—162= —20z
(19) —15b+ 196 = 4b (20) 11z + 62 = 17ax

— 13th-note —



